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[21-B313]
AT THE END OF THIRD SEMESTER
(CBCS PATTERN) EXAMINATIONS
LIFE SKILLS COURSES '
| ANALYTICAL SKILLS
(COMMON FOR ALL DEGREE COURSES)
UG PROGRAM (4 YEARS HONORS)
(w.e.f. Admitted-Batach 2020-21)

Time : 2 Hours Maximum : 50 Marks

Answer all questions. Each question carries 1 mark.

| (50x1=50)
1. 2x6-12:4+2="
a. 11 o b. 10
e 12 - o4 P
B 4 -
. = 350=" =9
2 5 of 7 of 210 =9 |
. a. 80 b. 70
c. 90 d 60
147x147 +147x143 +143x143 >
147x147x147 - 143x143x143 '
1 1
a. 5 b. 1
e | d. -1—
3
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|z|-mu|

(2)
AB=23:1B:C=1:2then A:B:C is & r‘ic‘&ot.ﬁo&,
a 1:2:3 b. 1:2:6
C' 3:2'6 d. 2:3:6

o i then value of X 15/ X Dend Qods?

“mu“x'
0.0144

a  0.144 b.
o 144 d  0.00144

Which of the following are in ascending order of theijr

value?
Bod EE’ o (B8 B0l

8§ 9 3 4 p 2543
9°11°'s’7 ' 1197’5
. 39 438 439 8§
c. —=—,=,— s T
511'7"'9 7 5"11°9
162 4,
Thc L.C.M. Of 5:6359—2",'7' lS/é.é”.KJ.
20 ‘ 10
a 3 . b. Y
3 3
C. 20 d. "i‘d '

;Nh;f,}; one of the following numbers js exactly divisible
y 112,

(Bt mQys ardef 11 F DY grhosed Sogg 28?
a  23564] | b. 245642

c. 415624 d 315624



3)  [21-B313]

What is the unit digit in 7'%*?
7' B ety i Devid Dos?

a. |1 b. 7
c. 3 d 8
. H.CF.0f3,27,9, 81 o K.3.4. ‘
a. 9 . b, 1
g 3 | d. 5 |
. 4,7,12,19,28,2
a. 39 b. 38
NS s d. 43
1,9,25,49,2, 121
a. 64 b. 100
[ P . d. 81
. LOST : PSWX : :TIME :?
a. XNQT - b. XMPT ;
c. XMQT d. XMQS

. Ifacertain code RAT =39 and CAT = 24, then how will
you code BAT?

RAT = 39 60t CAT = 24 sawis BATSE 52087
o e b 21
o2 d 19
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16.

17.

18.

) 21-B313)

What is angle between two hands of a clock at 5:30.
5:30 Kobo dinabhind® DfEney, DY dney g E%adn
0H?

8 - 100 - b 2 PP

c. 20° d 3°

How many times in a day the hands of a clock are straight?

8 B KBArESEnE® dneyen YY) 2.8 L5e8pss Sisyd?

& A2 b. 24
c. 48 d 44
What will be the day of the weck on 17" April 2023?

DBS 17, 2023 D 8o o H:0B.

a. Monday b.  Friday
RESHOTEED | HSTEED

¢.  Sunday o5 | d.  Wednesday
SOTEE | 20PHTBED

If a January 26, 1996 is Friday, then which day of the
week on January 26, 20007

20330 26, 1996 HEarBo wand 26 2556 2000 dardo ©9Hod.

a. Friday b, Wednesday
-Ei:t_éa:béa’m | 20HTER0
c.  Tuesday d.  Monday

SoRETESD | DBL0aEED



19.

20.

21.

22.

- ©) [21-B313)

Pointing to man, Radhika said, “His sister is my daughter’s

- brother’s mother. How is the man related to?

T8 BHPE°oB 28 HH3% 10809, &S L, oX) 89 S5
DS oD & N NS? |

a. Brother _ ~b.  Father
@25& éo@ :
c. Uncle d. Cousin
LS ' N nTot e

P is Q’s brother, R is Q’s mother, S is R’s father, Tis S’s
mother. How is P related in T. '

QD oHh P, QH Y R RS g0 S, S 89 T e
T % P So208550 Be%)c&.

-~ a  Grand Daughter b.  GreatGrand Son

oS oToe T B0 oot
c. Grand Mother d. Grand Father
©BRHY ' | 23033

Find the average of first five multiples of 5°S.

5 @) InsB 5 Hessins HTH0 SPGB,

558 b.- 9
o 12 ) : - d. 15

‘The average of 7 consecutive numbers is 20. The largest
.of these numbers is ? |

7 S5 Sogge $o°dd 20 @and ©oHE® Bvogy Jod?

S g . b. 23
c. 20 d 19
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25.

26.

6 [21'B313l

Vihan obtained 65, 67, 76, 82, and 85 out of 1¢¢ i

; ?
~ i What will be the average
different subjects. Wha ¢
DS 100 & 65, 67, 76, 82 B 85 SNV, Hrén Jogy

75 b. 70
g . 85
c. 80 d
4x+5y
Ifx:y=3:4, find 5x—2y "
| 4x+5y
X1y =314 vond Sx =2y Dend do?
32
7 b 32
a. 32 9
32 9
: Ed G 32

If2A=3B =4¢ then A:B:C is
2A=3B =4¢ wons A:B:C 85580,
a 2:3:4 b. 4:3:2
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28.

29.

(7) [21-B313]

The age of two persons differ by 16 years. It 6 years ago
the elder one be 3 times as old as young one, find their
present ages?

S50 Ko Sabiy BesHn 16 voBs@)BHnen. 68 SoNHTLve
850 D K8 SARY 3 Begg B Skory) Hodl, a0 RS
SN en EXRPHD?

2 16,32 b. 10,26
c. 14,30 | d 13,29

Rajeev’s age after 15 years will be 5 times his age 5 years
back. What is the present age of Rajeev?

TAS% 5 BoS5E)BHwe (Botsey Sahy 5 R 15 Hod&ssme
oS Aotnod. BIPEH TolS Babio B,

a 20 | b 25

c.. 15 d 10

A car moves at the speed of 30 km/hr. What is the speed -
of the car in meters per second?

2.8 5o @) 3?155)5 30 km/hr & 3?%33. m/sec & 08?7

a 22%m/sec b -22-§—mlsec

C. 22%m/$ec d. ' 22%m/scc

[Turn over



31.

32.

33.

(8) [21-B313,

1 Sy
A bus covers a distance of 624 km In 6-2- hours. Find itg

speed?

6-1'- Kobre srosnd® o8 5o 624 8.8 [a_’acsﬁsoz%oﬁaaéa. P50
2

D0? |
a. 96 km/hr b. 104 km/hr
c. - 140 km/hr d. 124 km/hr
860% of 50+50% of 860 =?

a. 430 b. 400

c. 860 d 800

A man sold an article for 960 Rupees, when he gains 20%,
Find his cost prlce'7

28 8 5030 960 53"5"(’5305) @3)3&26 20% @afa"m S, &

ESIES) %) Jo dos? |
a 700 o b 800
c. 900 | - d 850

A man buys an article for Rs. 27.50 and sells it for Rs.
28.60. Find his gain percent.

%8 28 &8 S 6. 27.50 80 0D . 28.60 & ey,
g ) ER°S0a,

a 1% b. 2%

c. 3% d 4%



©) (21-B313]

34. Vendor bought toffees at 6 for a rupee. How many for a
rupee must be sell to gain 20%? |

08 S8 Erirand 6 Dzraved B BYS, ©B8 20%
g0 BErTre08 af Brdrond dR) Deraedy eLydBn?

4 ' 3 <« b 4
c. 5 .' d 6

35. Anand and Deepak started a business investing Rs. 22,500
and Rs. 35,000 Respectively out of total profit of
Rs. 13,800. What was Deepak’s share in the profit?

505 $dasn HHE EOD &8 aosanésoess &r. 22,500 £o8%0

&, 35,000 Depnd DEE 08 Gr. 13,800 ergo SYB,
- 535 orgf e 087 |

a.  Rs.8,400. b. Rs. 8000

c. Rs.9,400 d.  Rs. 10000.

36. If6 (A’s capital) =8 (B’s Capital)= 10 (C’s capital), then
the ratio of their capital is?

6 (A eyad) = 8 (B digad) = 10 (C egad) ©ond 0

Degioe B Boyi».
TRt o RN | b 12:15:20
c. 20:15:12 . - d 6:8:10

[Turn over



37.

38.

39.

(10) [21-B3y;,

] 0,
rest on RS. 4,800 at 8’2’ % per annyp

Find the simple inté

for 2 years 3 months.

. 1, ,
4. 4.800 wiben P 2 BoSETO 3 30’ 85 % 568 dyd

e HED BB, )
a.  Rs. 908 b. Rs.918
c. Rs. 928 - d Rs.938

At what rate percent per annum of simple interest will as
sum of money double itselfin 12 years?

12 o1 068 Foi tay At SE8° 880D erbeth SoSHTas

aSé, Bén dod $o50?
e | | 1

. -k , b. 5-%
. ’ ) 3
g d | | 1.

Find compound interest on Rs. 7,500 at 4% per annum

* for 2 years.

@ 7,500 een B 2 Sosdyore 4% Soss0-08 3A8° D
SESED SRR, )

a. Rs. 61
& b. Rs.512
¢c. Rs.412
d  Rs.312



(11) _ 21-B313]

40. A sum of money doubles it self compound interest in 15 -
years, in how many years will it become eight times?
os rdmy JESEE° BGop sHS 15 $058)0°88, &8
iy OB Bey SIS DY VoSTLHH0R?

a 120 b. 90
c. 45 d 60

I(A). The pie - chart provided below gives the distribution of
land under various food crops.

28 @"aéaa’més SFE Hoven Brbad ey 2P DgraSTnd
& Lé,o&a’aéaa’awﬁs BT

[T urn over



41.

42,

43.

(12) l21-3313]

Which combination of three crops contribute to 5o, 7
the total area under the food crops?
88 Hotie Indo @a"opgoé‘s 50% & 807 Hodoe Fodio B
K 505PB00 EHEHOR. |
a. Rice, Wheat and Barley

58, Fw 005w &g,

b.  Rice, Wheat and Jowar.

6, s SO &),
c. Rice, Wheat, and Maize

58, e, HOP Ing) Fev.
d.  Rice, Wheat and Bajra.

58, Ao Hobaiy Segev.

Ifthe total area under Jowar was 1.5 million acres, then
what was the area (in million acres) under rice?

&) $o68 Indo Berego 1.5 HOHS IETTB, 56508 Jss
S50 (DOHS AEoE®) dos?

a 4 - ' S e B

¢. . 9.5 : g - 6

If the.production of wheat is 6 times that of barley, then
what is the ratio between the yield per acre of wheat and

barley? o B w

Euta) SR)88 6 ey AehiH 6818 w0l 505, arfen DETD8
So&od Hoey B doe? | |
a.  3:1 | b. 1:3

¢ g - d 21
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44. If the yield per acre of rice was 50% more than that of

45.

barley then the production of barley i
rl
that of rice? : arley is what precent of

e Bo& 58 JEoeAB Holod Hoty 50% Iei%y) eowd, 0

a$)8S° e 488 Dod wdo &%l

1 i

a. 23-2-% b. 33%%
o ale L s3lu
. 4 ‘ 5 0

If the total area goes up by 5% and the area under wheat
production goes up by 12%, then what will be the angle
for wheat in the new pie - chart? |

Sndo Berego 5% OB, ALHD $o803 Do 12% DONS,
g pie HeSs® D %003 Soadh Eeaiin H08?

a  66.8° b, 70.8°

c. 76.8° | d 80.8°

| Turnover



IL(A).

585 (Bod sTs: (Soy Fo&)

The following
manufactured by

(14)

table gives the sales of batterieg
a company over the year (in 000’s),

[21-B313|

&Ry Vosored’ el 50de8 S8 erstbe elyse

Types of batteties erst:de Sseed

oS8R .
Years 4AH .7AH 32AH 35AH 55AH Total
. 2002 5 14 14 12 108 543
2003 0 126 12 # 16 5%
2004 % 14 5 105 135 55
2005 05 0 150 % 75 50
W06 N B BB 0
2007 105 6 165 45 2 4%
2008 5 8 160 10 {45 g5
46. Tht? total sales.of all the sevén years in the maximum for
which battery? - _
9@056‘5& & ‘DRogs® Saltiéo ergeaBe o éoaﬁeg KOFHK0?
8. 324H b.  55AH
¢. TAH

d 4Aqh



48.

49.

c. 32AH

2003 5%, 2007 655 35 AH e:rgéaée) Boggs® Sgarpdsn
Jos? =

a 37,000 | b 38,000

c. 39,000 d. 40,000

The percentage of 4 AH batteries sold to the total number

of batteries sold was maximum in the year?

4 AH ergeabeo exnSo Sngo ergde elingos® Koy ado
&) oD BL0D Be)ol?

a 2008 b, 2007
c. 2006 - d. 2005

In the case of which battery there was a continuous
decrease in sales from 2002 to 2007? ‘

2002, 2007 o S5 Do ergeode @Yo BT HAFeRoR?
a. 55 AH b 35AH
d 7AH

[Tum over



50.

(16) | [21-B313]
increase in the sales |

! . . " ) la e
What is the approximate precentag 4 16 that if 20027

of 55 AH batteries in 2008 compare
2002 Jose)sos® P 2008 6° 55 AH ergtrbe FPEYBO

BEED DoB?
a.  34%
c. 38%

b. 36%
d 40%




